PANDUIT

StructuredGround Kits for Rack Grounding

(© Panduit Corp. 2006

INSTALLATION INSTRUCTIONS

T-PMPI-262-PC

Rack Grounding Strip

T

M6 Screw

T

12-24 Screw

T -

M5 Screw

F |

10-32 Screw

71N\
(1)
\&/ L

Universal Grounding
Sticker

Cleaning Pad

R
¢ AntiOX |

AntiOx

30

30

10

30

30

...,.‘.,.,.,.,.‘.,.,.,.,.,.
-

L_ ATy _J
L

s o\

Tk ket okt ok okt ok Pkt okt ok * ket ok * okt ok

St okt ke Pk P ok * ket okt ok ok P okt ik okt ik

=t.

(==

o
9)
)
—

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 4




(© Panduit Corp. 2006 INSTALLATION INSTRUCTIONS T-PMPI-262-PC

|, O

Common Bonding
Network Jumper

T .

M6 Screw

T

12-24 Screw

% 2
M5 Screw @

T .

10-32 Screw

0
%5

ok
% 1’:"{,}

SO
L
SRR

-

HTAP

Pad

AntiOX |
4 1

AntiOx

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 4



(© Panduit Corp. 2006 INSTALLATION INSTRUCTIONS T-PMPI-262-PC

/\

1in.

W(25.4mm)

2
é
1in.

_______________________ T (25.4mm)

7
_

Purple

7%
@7
D)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 4



INSTALLATION INSTRUCTIONS T-PMPI-262-PC

e <:::>
X
A‘dﬁﬂ@
. S|

R
e
R
«Q&f

Equipment Jumper
24" (0.61m)

‘::l 1 1

"%

7
LR
02020,
G5

%
KR
RS

— — — — — J— o
“:‘sﬁs‘:‘:"\‘v S
Equipment Jumper \‘.\s‘s‘:““ =S ‘:,7,;:,::;}
24" (0.61m) SRR
o QR
()

,:.J____11__

Equipment Jumper
36" (0.91m)

:/,:J
Equipment Jumper @
57" (1.45m)
7 "
% 2 2|2 2|2 2|2 2 5 S
>

s /
M6 Screw LR, Q
i J
100000, 00, 0, 04 QA
Ao N
2 | 2|2|2|2|2|2]:2 7 0
12-24 Screw @
% 2 2 2 2|2 2 2 2 ) I
M5 Screw
% 2 |2|2|2|2|2]|2]:2 0
10-32 Screw o)

=N

o \
Cleaning Pad \ L
0
{ AntiOX | o
2 1 1 1 1 1 1 1 1
AntiOx E

=

o o

=

For Instructions in Local Languages oe Z:g::# o
and Technical Support: n“IT ) |

Fax:
www.panduit.com/resources/install_maintain.asp www.panduit.com 708-444-6993

Page 4 of 4 Rev 06



	Page 1
	Page 2
	Page 3
	Page 4

